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44556

B. Com {General) EXAMINATION, Feb.

2021
(Fifth Semester)
COST ACCOUNTING
BC-501

[Maximum Marks : 80

Note : There are nine questions in all. Q. No. 1 of

five short type answer questions carrying 4
marks cach is compulsory. Attempt any four
questions from the remaining eight questions

carrying 15 marks.
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Give four advantages of cost accounting

to management.

M| @l ¥ Yl Bl EH o =)
o9 <digy |

Distinguish between ABC and VED

analysis.

uatE, qu fEH favemw § sew
Hifsa |

Explain the following :

(1) Labour Turnover

(i) Idle Time

Fefafeaa = ELE Elﬁﬁﬂ?{ :

() =1 sEd

(i) =R T

Explain the difference between direct and
indirect expenses.

TS T AYTY I H SRR G e

wifeg |

What do you mean by cost audit ?
Explain its advantages.
2
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|l ® e Hifve | 5x4=20

2. “Cost accounting is becoming more and more
relevant in emerging economic scenario in
India.” Comment. 15
‘e SR AN % WRenM 9Rdd e
4 W W W wR weww ¢ (" feoavdt
HIST |

3. Discuss the different methods of pricing
the materials issue from stores for production.
Also  explain  their advantages and
disadvantages. i5
©R ¥ 39T & T st @ qew fehw
% fafyal =1 fadwn Fifon | == el aen
gl w1t qufa wifsw

4. Explain the following by giving suitable
examples : 5x3=15
(1) Halsey Premium Plan
(ii) Emerson Premium Plan
(i11) Gantt Bonus Plan

(5-07/12) Z-44556 3 P.T.0.
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(iv) Merrick Scheme

(v) Bedcaux Point Premium Plan

Fefafiga =1 sfaa seEwl ofsa wwEme -
() ®lew whfaEm e

(i) & wifeem s

(iii) vz wrE =

(iv) #Re yomen

(v) def fag wifiem b

What do you mean by classification, allocation.
apportionment and absorption of overheads ?
Explain in detail. 15
Suftel & epifertor, famor,  eifirsrem Tg
HAE W A F WHeR ¥ 2 fawm ©
HHEART |

The product of a company passes through three
different processes known as A, B and C before
the product is complete. From past experience
it is ascertained that normal loss in each process
is as under :

Process ‘A’-2%. Process ‘B’-5%, Process
‘C’-10%.

Z-44556 4
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In each case, the percentage of loss is
calculated on the number of units entering the
processes concerned. The wastage of each
process possess a scrap value. The wastage of
process ‘A’ and ‘B’ is sold at ¥ 5 per 100 unit
and that of process ‘C’ at T 20 per 100 units.

The output of each process passes immediately
to the next process and finished units form
process ‘C’ to finished stock account.
The following other information is obtained :

Process (A) Process (B) Process (C)
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i ‘AT-2%, AT ‘B’-5%, uiEdr ‘C’-10%.
gt whEa § faed gemal wR @t T OE
= B #t e & fan wiaw@ 99
THEd W O € | 3@ §Er ' H HS
a9 ged § S uhmAr ‘AT B’ % fag
g 5w 100 seAl A wEA ‘C % fEg
720 wht 100 s®EEl €

A0 QUHUIONSIX A 1 S

- oz

| X ? 2 Wi wiEa ol SEA el Whedl § ged
Material o fear W & @ fafda sEwEAl whew C
consumed 4,000 2,000 1,000 ¥ =w A7 St et € 1 Fefafem e
Direct labour 6,000 4,000 3,000 g ¥
Manufacturing ufsmar (A)  wiear (B) | wiewar (€)
" Expenses 1,000 1,000 1,500 4 4 3
In process ‘A’ 20,000 units at cost of ¥ 8,000 wged At 4,000 2,000 1,000
were issued. The actual output was : —— 6.000 4.000 3.000
Process ‘A’-19,500 units, Process ‘B’-18,800 mofol =@ 1.000 1,000 1,500
units, Process ‘C’-16,000 units. , : |
7-44556 6
Prepare process accounts. 15
(5-07113) Z-44556 5 P.T.O.
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T 8,000 st @ra A 20,000 zeRreAl wfEAr ‘A’
! S W T | YAF whEA &1 ardeeh
IERA T UFR ¥ o

gfEean ‘A’-19,500 F=T34l, i ‘B°-18,800
TpTEal, WA ‘C’-16,000 FHEET |

ufhen @I F9BC |

A contractor who prepares his accounts on st
December each year commenced a contract on
1st April, 2015. The following information are
related to that contract as on 31.12.2015 : 15

3
Material issued 28,000
Wages 57,000
Supervisor’s salary . 8,000
Special plant 20,000
Subcontract cost . 7,800
Other expenses 4,075

Another machine costing T 26,000 has been
on site for 146 days. The working life of this

- machine is expected to be 7 years with a final

(5-07/14) Z-44556 7 P.T.O.
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Scrap value of ¥ 1,500. Material costing
X 2,000 was lost and material costing ¥ 4,000
were in hand on site. A machine costing
X 3,000 out of special plant was sold for
X 3,700 in the beginning and a machine costing
X 5,000 was returned to store on 1.10.2015.
Wages are outstanding for one week and
supervisor’s salary is outstanding for 1 month.
Supervisor has denoted one half (}%) time to
the contract. The contract price is ¥ 2,40,000.
On 31.12.2015. (2/3rd) of the contract was
completed. Cash received ¥ 96,000 being 80%
of work certified. Administrative overheads to
be charged at the rate 20% on works cost and
depreciation to be charged @ 15% p.a. on
special plant. Prepare Contract Account, W.LP.
Alc and necessary items in balance sheet.

Th IR S AW eifE W yeE 99 3]
o @ T 2 s@ w 3w 1 e,
2015‘331 IF® & 1 31.122015 | T
Tah @ Frafafas gemd wa @t &

4
frifas it 28,000

LEE 57.000
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s F de 8,000
forra wefiery 20,000
IY-IHT T 7,800
TR Ay 4,075

T SR WA 3H wrRee W fws arE
326,000 &t, 146 7 @ | wim @1 FrwE
ST 7 A BT qe e 8 %are T 1,500
d fohm | wrfeE @ 22,000 % Gt S
O A I wet gd W @ s
4,000 &t | ol wvim § enfier us wuie
oot #ma 3,000 <, 3% @ yw § @
13,7009 39 & ® 9w uww Wi fmed
| X 5,000 o, 1.10.2015 =t ©R ® amy
W f T R FOwRE sRW ¥ oqen
UF W W GRS H da9 /Y 2 |
UAGSR 3 AU M WA W I W
T | 3% W HEd T 240,000 ¥
31.12.2015 &t 3% &1 2/3rd (J-faed) wm
QW & T TR U 96,000 wrE g s
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From the following information, calculate
labour variances : https://www.crsuonline.com 18
Standard wages

Grade X-90 Labourers at ¥ 2 per hour.
Grade Y—60 Labourers at ¥ 3 per hour.
Actual wages

Grade X-80 Labourers at ¥ 2.50 per hour.
Grade Y-70 Labourers at ¥ 2 per hour.
Budgeted hours = 1000

Actual hours = 900

Budgeted Gross Production = 5000 units
Standard Loss = 2%

Actual Loss = 900 units.

Z-44556 10
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frefafga gonel o sm-fasmo s IS
THIT WS

SOt X-90 sffe T 2 wfg wmuar & W @
goft Y60 sfer T 3 wfg wwe Y S A
qreafass  weiglt

goft X80 ofie T 2.50 Wl wver Wt W H
goft Y-70 sifHe T 2 wid woa @t
I = = 1000

Frfa® " = 900

FM Sl SeET = 5000 Al
THY B = 2%
grmfasw ' = 900 THEAl |

Mr. X manufactures stools, chairs and tables.

The materials and wages cost are separated as

follows : 15
Material Wages
L4 4
Stool 36 48
Chair 60 40
Table 440 120
(5-07/16) Z-44556 11 P.T.O,
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His total factory overheads in the year 2015
were T 6,00,000. You are asked to determine
the work cost of each type of furniture after
assuming that one table is equivalent to
4 stools and 2 chairs are equivalent to one
table for the purpose of overheads a]!ocamm)

The production during the year was—stool
6,000; chair§ 3,000; table 600.

fa. ww =@, 7@ 9 o9 WA € 1w
ANl AORH W SR R FH WER ©

Eie:c| S - -0

L4 4
wd 36 48
HHl .60 40
A 440 120

a8 2015 = U =08 =9 sR@m ufeg
T 6,00,000 & | 3MUH TIF TE F HITEE

af @ WA IERT VA 6,000; Hidat 3,000;
o 600 o1 |
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